Paid

NSLP SFSP CACFP ADE Home

National School Lunch Program - NSLP

 Applications
 Claims
 CNP Overview
 You are logged in as Anne Taffe

Claims

NSLP Site Claim

🔁 Help | 🛅 Logoff

You are in NSLP Home > NSLP Claims Index > NSLP Site Claim

Enter the information into the form. For meal quantities that are unknown or none served, enter zero (0). Click **Save** to save your changes or click **Cancel** to disregard your changes since the last save. Be sure to enter only *whole numbers* (no decimals/cents).

Oro Grande Classical Academy (08-02-01-106)

Sponsored by Lake Havasu Unified District (08-02-01) 2024 Program Year August Original Claim

Regular Claim

Breakfast - Severe Need		
Number of Days Served:	21	
Free Meals Served:	790	
Reduced-Price Meals Served:	122	
Paid Meals Served:	200	
Total Meals Served:	1112	
Participants Approved for Free Meals:	189	
Participants Approved for Reduced-Price Meals:	33	
Participants Approved for Paid Meals:	194	
Participants Enrolled:	375	
Lunch - High Rate		
Number of Days Served:	21	
Free Meals Served:	1626	
Reduced-Price Meals Served:	289	
Paid Meals Served:	490	
Total Meals Served:	2405	
Participants Approved for Free Meals:	189	
Participants Approved for Reduced-Price Meals:	33	
Participants Approved for Paid Meals:	194	
Participants Enrolled:	375	
Attendance Factor		
Attendance Factor:	92.48 %	

Created by Anne Taffe on 9/8/2023 at 9:59:53 AM Modified by Anne Taffe on 9/8/2023 at 10:01:02 AM Submitted by Anne Taffe on 9/8/2023 at 10:09:19 AM

Cancel

National School Lunch Program - NSLP

 Applications
 Claims
 CNP Overview
 You are logged in as Anne Taffe

Claims

NSLP Site Claim

Help | Logoff

You are in NSLP Home > NSLP Claims Index > NSLP Site Claim

Enter the information into the form. For meal quantities that are unknown or none served, enter zero (0). Click **Save** to save your changes or click **Cancel** to disregard your changes since the last save. Be sure to enter only *whole numbers* (no decimals/cents).

Oro Grande Classical Academy (08-02-01-106)

Created by Anne Taffe on 10/3/2023 at 1:10:57 PM

Modified by Anne Taffe on 10/3/2023 at 1:12:39 PM

Sponsored by Lake Havasu Unified District (08-02-01) 2024 Program Year September Original Claim

Delete

Save

Cancel

Regular Claim **Pending Submission** Your claim data has been saved successfully. **Breakfast - Severe Need** Number of Days Served: 20 804 Free Meals Served: Reduced-Price Meals Served: 177 Paid Meals Served: 200 Total Meals Served: 1181 189 Participants Approved for Free Meals: 31 Participants Approved for Reduced-Price Meals: Participants Approved for Paid Meals: 173 373 Participants Enrolled: **Lunch - High Rate** Number of Days Served: 20 Free Meals Served: 1751 Reduced-Price Meals Served: 373 Paid Meals Served: 609 Total Meals Served: 2733 Participants Approved for Free Meals: 189 Participants Approved for Reduced-Price Meals: 31 Participants Approved for Paid Meals: 173 Participants Enrolled: 373 **Attendance Factor** 92.48 % Attendance Factor:



SESP CACFP

National School Lunch Program - NSLP

Claims **Applications CNP Overview** You are logged in as Anne Taffe

Claims

Site Meal Service Summary

Thelp | Logoff

You are in NSLP Home > NSLP Claims Index > Site Meal Service Summary

Calendar Year:

Month:

2023 October

Oro Grande Classical Academy (08-02-01-106)

Sponsored by Lake Havasu Unified District (08-02-

Accurate as of 11/2/2023 10:14:43 AM

2023 October

iginal			
Meal	Count	Rate	Amount
Breakfast - Severe Need			
Free Meals Served	585	2.7300	\$ 1,597.05
Reduced-Price Meals Served	152	2.4300	369.36
Paid Meals Served	182	0.3800	69.16
Add-On for Reduced-Price Meal Subsidy	152	0.3000	45.60
		Total:	\$ 2,081.17
Lunch - High Rate			
Free Meals Served	1,415	4.2700	\$ 6,042.05
Reduced-Price Meals Served	335	3.8700	1,296.45
Paid Meals Served	685	0.4200	287.70
Add-On for Menu Certification	2,435	0.0800	194.80
Add-On for Reduced-Price Meal Subsidy	335	0.4000	134.00
		Total:	\$ 7,955.00
		Claim Total:	\$ 10,036.17

National School Lunch Program - NSLP

 Applications
 Claims
 CNP Overview
 You are logged in as Anne Taffe

Claims

NSLP Site Claim

THelp | TL Logoff

You are in NSLP Home > NSLP Claims Index > NSLP Site Claim

Enter the information into the form. For meal quantities that are unknown or none served, enter zero (0). Click **Save** to save your changes or click **Cancel** to disregard your changes since the last save. Be sure to enter only *whole numbers* (no decimals/cents).

Oro Grande Classical Academy (08-02-01-106)

Created by Anne Taffe on 12/5/2023 at 7:35:20 AM

Modified by Anne Taffe on 12/5/2023 at 7:36:59 AM

Sponsored by Lake Havasu Unified District (08-02-01) 2024 Program Year November

Original Claim

Regular Claim

Pending Submission

Your claim data has been saved successfully.		
Breakfast - Severe Need		
Number of Days Served:	18	
Free Meals Served:	745	
Reduced-Price Meals Served:	198	
Paid Meals Served:	206	
Total Meals Served:	1149	
Participants Approved for Free Meals:	180	
Participants Approved for Reduced-Price Meals:	36	
Participants Approved for Paid Meals:	164	
Participants Enrolled:	367	
Lunch - High Rate		
Number of Days Served:	18	
Free Meals Served:	1605	
Reduced-Price Meals Served:	425	
Paid Meals Served:	683	
Total Meals Served:	2713	
Participants Approved for Free Meals:	180	
Participants Approved for Reduced-Price Meals:	36	
Participants Approved for Paid Meals:	164	
Participants Enrolled:	367	
Attendance Factor		
Attendance Factor:	92.48 %	

https://www.ade.az.gov/cnpweb/claims/claim.asp?validate=1&date=11/30/2023&sponsore... 12/5/2023

Save

Delete

Cancel

National School Lunch Program - NSLP

Applications Claims **CNP Overview** You are logged in as Anne Taffe

Claims

NSLP Site Claim

Thelp | July Logoff

You are in NSLP Home > NSLP Claims Index > NSLP Site Claim

Enter the information into the form. For meal quantities that are unknown or none served, enter zero (0). Click Save to save your changes or click Cancel to disregard your changes since the last save. Be sure to enter only whole numbers (no decimals/cents).

Oro Grande Classical Academy (08-02-01-106)

Created by Anne Taffe on 1/3/2024 at 8:55:33 AM

Modified by Anne Taffe on 1/3/2024 at 8:56:36 AM

Sponsored by Lake Havasu Unified District (08-02-01) 2024 Program Year December

Original Claim **Regular Claim Pending Submission**

Your claim data has been saved successfully.	
Breakfast - Severe Need	
Number of Days Served:	15
Free Meals Served:	755
Reduced-Price Meals Served:	184
Paid Meals Served:	201
Total Meals Served:	1140
Participants Approved for Free Meals:	182
Participants Approved for Reduced-Price Meals:	36
Participants Approved for Paid Meals:	154
Participants Enrolled:	363
Lunch - High Rate	
Number of Days Served:	15
Free Meals Served:	1408
Reduced-Price Meals Served:	364
Paid Meals Served:	563
Total Meals Served:	2335
Participants Approved for Free Meals:	182
Participants Approved for Reduced-Price Meals:	36
Participants Approved for Paid Meals:	154
Participants Enrolled:	363
Attendance Factor	
Attendance Factor:	92.48 %

https://www.ade.az.gov/cnpweb/claims/claim.asp?validate=1&date=12/31/2023&sponsoren... 1/3/2024

Cancel

Delete

Save